
Abs Min

Loc/Rel Min

Loc/Rel Max

No Abs Max

Abs Max

Loc Min

(Or Neither?)

𝑓(𝑥) = 1 ; 𝑥 = 1 Is this continuous? … 
within the domain?
Is it a local or abs 
max/minimum?...

𝑦 = √𝑥⎯⎯ 

Abs Min (0,0)?

Abs Max (0,1)

𝑦 = +ඥ1 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

Loc Min (0,1)Loc Min (0, −1)

End Pt :
Neither

No Abs Min

  𝑦 = 𝑥ଷ

𝑦ᇱ = 3𝑥ଶ

 0 = 3𝑥ଶ

 𝑥 = 0

𝑦′
+ +

𝑦 (0,0)

0

𝑦 = 𝑥ଷ

𝑦 = √𝑥⎯⎯య

𝑦 = 𝑥
ଵ
ଷ
⎯⎯

𝑦ᇱ =
1

3 √𝑥ଶ⎯⎯⎯య⎯⎯⎯⎯⎯

0 =
1

3 √𝑥ଶ⎯⎯⎯య⎯⎯⎯⎯⎯

0 ≠ 1
3 ඥ𝑥ଶ

⎯⎯⎯య
≠ 0

         𝑥 ≠ 0

Non Differentiable Pt.

𝑦′
+ +

𝑦 (0,0)

0

No Max/Min

No CP Max or Min Critical
Value 𝑦 = 4 − 𝑥ଶ ;   −2 ≤ 𝑥 ≤ 3

Abs Max

Loc Min

(−2,0)

(3, −5)

Abs Min

      𝑥       𝑦 

   −2       0

      3    −5

−1 +1

−1 +1

 𝑦 = 2௫

𝑦ᇱ = 2௫𝑙𝑛2
  0 = 2௫𝑙𝑛2
  0 ≠ 2௫

𝑦′
+

0

𝑖𝑛𝑐 ∶ (−∞, ∞)

No CP

Check Endpoints

CP

CV
𝑦 = 2௫

𝑦 = √𝑥⎯⎯ 

Is root 𝑥 continuous at 0?
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